gtz E0] 4cmQ Y] YFE FotH
4x2x3.14 = 25.12( cm)

2] 5o] 3em?l Ao YFE FotH
3x2x3.14 = 18.84(cm)
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25.12 — 18.84 = 6.28( cm) YUYt}
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9] A& : 10(cm)
Q1% : 10x 3.14 = 31.4( cm)
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(9%) =(A2)x3.14
(BE2]8)x2 x 3.14

10 x 2 x 3.14 = 62.8( cm)
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75X2x3.14 = 15% 3.14 = 47.1(cm)
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> EHE D 69.08cm

(95)
=11x2x3.14
= 69.08( cm)
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@ 8 x 2% 3.14 = 50.24( cm)
© 1x2x3.14 = 37.68(cm)
© 7x2x3.14 = 43.96( cm)
— 50.24 — 37.68 = 12.56( cm)
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=7 A& (cm) | Y5 (cm)
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a% © 31.4
B cm
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HMEHD 26,69 cm

>
>
>
[> Hg: 8.164cm
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10cm

500 9#te] 52 U= ¢ 2.6 x 3.14 = 8.146( cm)
SxY YF 1 8.5x%3.14 = 26.69( cm)
OR9 AE : Ox3.14 =314

O=314-=3.14

0= 10(cm)
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(40 x 3.14) X 20 = 2512( cm)




